PDE Question Bank

1. Which of the following is a source of methane ?

BEINIEER R IR R RE kR G
(A) Wetlands/ m@ (B) Foam Industry/q'ﬁﬂm
(C) Thermal Power Plants/ YA UTeR Wi (D) Cement Industry/“\:ﬂﬁ?m

2. ‘Minamata disaster’ in Japan was caused by pollution due to

ST o THATHTGT 3TUeT {5 HRUT W UgHUl 6 HRUT 52
(A) Leadﬂ:ﬂﬂT (B) Mercury/URRT (C) Cadmium/%ﬁl’q-q (D)Zinc/ﬁr'fa?

3. Biomagnification means increase in the

g s w1 s g A gf S
(A) concentration of pollutants in living organisms/ Siidd Siidl & UgH®| &1 THIIAT
(B) number of species/ TSIl &1 TBAT
(C) size of living organisms/ STIfdd Sital &1 STHR
(D) biomass/ STATATY

4. Nagoya Protocol is related to

TRIT Wit Sefia 8
(A) Climate change/mm (B) Ozone depletion/ 3ol Rt
(C) Hazardous waste/ AT 3Oy (D) Biodiversity/ wig fafgear

5. The second most important source after fossil fuels contributing to India’s energy needs is

HRA D1 Sl oeRdl H IRTGH B aTel SITATRH 3¢ & 916 GuRT 9ad AUl |id §
(A) Solar energy/ IR oIt (B) Nuclear energy/mm
(C) Hydropower/ Wﬁﬂ% (D) Wind energy/tla:fmf

6. In case of earthquakes, an increase of magnitude 1 on Richter Scale implies
Yoy & TTHa H, Reex THM o= afedmor 1 &) 3fg o1 ard 8
(A) aten-fold increase in the amplitude of seismic waves.
YU a7 & S H &9 AT gfs |
(B) aten-fold increase in the energy of the seismic waves.
YH U a1l &1 SHoll § g8 T IS |
(C) two-fold increase in the amplitude of seismic waves.
YHUTg TN & S | &l 1 gfG |

(D) two-fold increase in the energy of seismic waves.



YUl a7 1 Soll J &l 1 gl |

7. Which of the following is not a measure of Human Development Index ?

frafaRad o  ®F A4 e Yadi &1 A 76l 82
(A) Literacy Rate/ TT&RAT G (B) Gross Enrolment/ & d ATHIRT
(C) Sex Ratio/ foi S{UId (D) Life Expectancy/Gﬂa:TWTQ]T

8. The phrase ‘tragedy of commons’ is in the context of
TSN TP BT HETaRT fbad ey g2
(A) tragic event related to damage caused by release of poisonous gases.
e tel 4 @t ReTs A g arelt & 3 Tefid g ge|
(B) tragic conditions of poor people.
RIS o7 Bl guig FRufd|
(C) degradation of renewable free access resources.
3161 Herdl Ugel HHTET T &RUT|
(D) climate change.

Searg uRadH |

9. Kyoto Protocol is related to

FIeI diethid ¥ Yafdd §
(A) Ozone depletion/ 3N R (B) Hazardous waste/ W dXTdH 3Ry
(C) Climate change/mmﬁq (D) Nuclear energy/ UXHIU] Sl

10. Which of the following is a source of emissions leading to the eventual formation of surface ozone as a
pollutant ?

fafeiRad B @ SH-91 I &1 HId 8, ST 3idd: UGS & 70 A Tda! Sl &1 At Ha1 g2
(A) Transport sector/qﬁa_é:f & (B) Refrigeration and Airconditioning/ PEIGET GﬁTmﬁ'ﬂ
(C) Wetlands/ 3‘”?5‘-‘[&[ (D) Fertilizers/m

11. The smog in cities in India mainly consists of
YR & e J W H T8 &9 4 i 3
(A) Oxides of sulphur/ Heh & \31T0|HI$S

(B) Oxides of nitrogen and unburnt hydrocarbons/ - EE-AlﬁFi & Gﬁ?ﬂlﬁ%’ 3R Gﬁﬁlﬁ_ﬂ%@mﬁh
(C) Carbon monoxide and SPM/ BT AN RSS 3R TdiTy

(D) Oxides of sulphur and ozone/ Hch 3R 3 & &ﬁaﬂﬁg

12. Which of the following types of natural hazards have the highest potential to cause damage to humans ?

fafifed o 3 fog UeR & Wefae TR § 7! B! JTHaH Ugam & Tl ifeid JHTE1 82
(A) Earthquakes/ %@q (B) Forest fires/Waﬁ&ﬂ"T




(C) Volcanic eruptions/ ﬁﬁ'lﬂ@ﬁ?qﬁ? (D) Droughts and Floods/ 4T 3R dle

13. The percentage share of renewable energy sources in the power production in India is around

YR # faoiel Sare § eiara ol Fidl o1 Ufaerd feean ey g

(A)2-3%  (B)22-25% (C) 37-38% (D) < 1%

14. By the year 2022, the Climate Change Action Plan of Government of India aims at installing

T8 2022 TP, YR RBHR B STAarg URadT B TSI BT 767 RITUT BT 8
(A) 20,000 MW of wind power/ 20,000 TATIGTE a3l

(B) 25,000 MW of wind power/ 25,000 BITGTE Ua ol
(C) 20,000 MW of solar power/ 20,000 fl‘ [dic @R’ Ek_ﬂi
(D) 100,000 MW of solar power/ 100,000 TTTaTe @T 3ol

15. Which one of the following biosphere reserves has UNESCO recognition ?

fafafed o 3 fog s R Rerd o gowen! ot JrgdT U 82
(A) Manas/ Y (B) Panna/ GUdT
(C) Seshachalam HiIIs/@W%ﬁq (D) Greater Nicobar/‘j—cr?ﬁa'ﬁaﬁ

16. Which activity contributes to water pollution more than any other throughout world ?

g wR 7 ot ot e ifafafy @t o & e O fafaf oret vemur & e 31 dnTe it @2
(A) Agriculture/ ?ﬁf (B) Hydroelectric power generation/ Gﬂﬁ?ﬁﬂﬁﬁ?ﬁw
(C) Industry/ I (D) Urbanisation/ Q@<1&R0l

17. G5 are the five most important emerging economies of world. Which one of the following does not form part
of G57?

G5 g1 B! Ui Tl Aeayul SHRG! oy § | FAEfifed § § B 65 BT HITTET 32
(A) Mexico/ﬁmﬁ (B) Brazil/EﬂTSﬁﬁ
(Q) China/iﬁ_"f (D) Korea/ﬁf\’m

18. Which of the following nations has the maximum per capita emissions of carbon di-oxide ?

frafafad o 3 forg 31 & ufa faa H1ei STE-3HTaTSS &1 e dH SToi gidl 8?2
(A) China/iﬁq (B) Japan/ SITAr—
(C) UsA/ gquHu (D) India/ HIRd

19. Which one of the following continents is at a greater risk of desertification ?

fRofeRad H @ o9 91 7eTgiy TRl & 3ifie a7 g2



(A) Africa/ 3HIHT (B) Asia/QﬁTEIT
(C) South America/ < feror 3T (D) North America/G’f‘lﬁ 3MRPT

20. “Women are closer to nature than men.” What kind of perspective is this ?

AR TE8T B qaT H Upld & B9 81" I8 SaT DB e
(A) ReaIist/q?ﬂ"’faTi& (B) Essentialist/GfﬁlaTﬁ
() Feministﬂm (D) Deep ecologyﬂﬁmﬁﬁ

21. Which one of the following is not a matter a global concern in the removal of tropical forests ?
Sumeseia ol &l g H Fafiad § 3 &1 w1 e afye fiar o1 fawa T8 g2

(A) Their ability to absorb the chemicals that contribute to depletion of ozone layer.
SIS URd & &RUT T TRTGH B dTct TR bl SHIRNTT DHRA bl ID! &

(B) Their role in maintaining the oxygen and carbon balance of the earth.
T2t & SRS 3R PHIa T ! ST 3@ B 3! YfHreT|

(C) Their ability to regulate surface and air temperatures, moisture content and reflectivity.
g 3R 84T & A0, TH $1 AET 3R WRIad HI fAfFafid o7 &1 3! &

(D) Their contribution to the biological diversity of the planet.

UE &I wifge Rfdyar & 371 aNe |

22. The most comprehensive approach to address the problems of manenvironment interaction is one of the
following :

AT YTTaRUT 3id:fohar &t gawrelt & gaTy & foft o U e Ruferad # 3 ue ©:

(A) Natural Resource Conservation Approach
T s T TRET S P PI0T

(B) Urban-industrial Growth Oriented Approach
1R3-S fadmr =9 efPdIu

(C) Rural-agricultural Growth Oriented Approach
Y05 faPsr 3=ga efPa o

(D) Watershed Development Approach

RIS fdepr T

23. The major source of the pollutant gas, carbon mono-oxide (CO), in urban areas is

T1E<T & H Ugue 119, HTe- HIHI-HTRIZS (Co) T THE Jid &
(A) Thermal power sector/ Y UTaR Jdex (B) Transport sector/ tlﬁ_dg:f 833[
(C) Industrial sector/ m R (D) Domestic sector/ ‘fﬁﬂm

24. In a fuel cell driven vehicle, the energy is obtained from the combustion of

24 I Tferd a1 & Solf & g8 J U gt &
(A) Methane/ HIg (B) Hydrogen/ BTSgIT:
(C) LPG/ UTTtSH (D) CNG/ TSIt

25. Which of the following cities has been worst affected by urban smog in recent times ?



frafaRad o O & 91 28R 81 & o1 # 28t o & qa SareT uuIfad gof g2
(A) Paris/aﬁﬁ (B) London/ ©igd
(C) Los Angeles/?ﬁﬁm (D) Beijing/ SIS

26. The primary source of organic pollution in fresh water bodies is

Tl od T B S ugw T &1 wufie Oid 8
(A) run-off urban areas/ a{ane’Ergﬂ 8-33[ (B) run-off from agricultural forms/?ﬁl??q}f'@[ 3{Udig
(C) sewage effluents/?ﬂaﬁf GTC@TQ (D) industrial effluents/ Ghm GWQTQ
27. ‘Lahar’ is a natural disaster involving
(A) eruption of large amount of materialﬁé%ﬁwwm
(B) strong winds/?l\_rfg?ﬂﬁr

(C) strong water waves/ﬂﬁaﬁqﬁaﬁﬂﬁi’:
(D) strong winds and water waves/ﬁﬁ%ﬂ'l'ir @?ﬁaﬁﬁ

28. In order to avoid catastrophic consequences of climate change, there is general agreement among the
countries of the world to limit the rise in average surface temperature of earth compared to that of pre-
industrial times by

Sdarg gRad & faTRIeR gkl ¥ S5 & e, gfar & <=l & oid ga-SHIefite 90g & g § gedt
DI T Tdg & o H gfs &1 W o & forg omy wgafa 31

(A)1.5°Cto2°C (B)2.0°Cto 3.5°C

(C) 0.5°Cto 1.0 °C (D) 0.25 °Ct0 0.5 °C

29. The National Disaster Management Authority functions under the Union Ministry of

RIS ST Usier UTISRUT dhefi HaATerd & 3fefi 1 el &:
(A) Environment/ TYTaRT (B) Water Resources/ STal I
(C) Home Affairs/ ﬂ%’ﬂ'lﬂ?ﬁ (D) Defence/ Y&

30. Which one of the following green house gases has the shortest residence time in the atmosphere ?

fRafeiad & 2 frg i 8799 719 &1 arareru # 998 &4 9™ 99a glar g?
(A) Chlorofluorocarbon/ FARTTARIBTST (B) Carbon dioxide/ W@gm
(C) Methane/ A= (D) Nitrous oxide/ -IgcH H\Iﬁﬂﬁg

31. Which of the anthropogenic activity accounts for more than 2/ 3 rd of global water consumption ?

B A TGS TTfafafy 3y S wud % 2/3 J 31fAd & forg iR 72
(A) Agriculture/ ?ﬁf (B) Hydropower generation/ \_rﬁfﬁ_c?aﬁ RICID



(C) Industry/BﬁﬂT (D) Domestic and Municipal usage/ ‘d\Q(j\GhT TR SYTNT

32. One of the anthropogenic sources of gaseous pollutants chlorofluorocarbons (CFCs) in air is

g TRfT g FARIRARIBTE (CFCs) % HIMaSId Sl & 9 T o
(A) Cement industry/ e I (B) Fertiliser industry/mm
(C) Foam industry/tﬁﬁm (D) Pesticide industry/mm

33. In terms of total CO2 emissions from a country, identify the correct sequence :

fohei <=1 A Hdt o2 IoA & T H, Tg! HH DI UgaH D
(A) U.S.A. > China > India > Russia/ Z.TH.T.> T-T> URd> =Y
(B) China > U.S.A. > India > Russia/ I> ZUH.T.> YRd> &
(C) China > U.S.A. > Russia > India/ 19> ZTH.T.> &> YRd
(D) U.S.A. > China > Russia > India/ Z.TH.T.> Ti> &> YRd

34. The cyclone ‘Hudhud’ hit the coast of which State ?
Iehdld 'gaga’ [ Il & dc H THAT?

(A) Andhra Pradesh/ Wﬂm (B) Karnataka/m
(Q) Kerala/w (D) Gujarat/ 1[eIRId

35. Which of the following is not a renewable natural resource ?

frafaRad o I & 91 318/ Ui Tu1eH 151 62
(A) Clean air/ T8 gdl (B) Fresh water/ QTSI Ot
(C) Fertile soil/ SUSITS, fHgT (D) Salt/ TH&

36. The dominant source of pollution due to oxides of nitrogen (NOX ) in urban areas is

RS &l T AR CIoH o SHTRIZS (TTSNURT) & HRUTUGHUT BT UE HId 5
(1) road transport/ Wqﬁﬂﬂq (2) commercial sector/?ﬂﬁTW c°33[
(3) energy use in industry/mﬁmﬁmﬂ (4) power pIants/%\_ﬂ?ﬁW

37. Which of the following is not a water-brone disease ?

fraffad o § -9 ofd- 4T T T8 R
(1) Typhoid/ CISBIZS (2) Hepatitis/%ﬁ?l%ﬁ?
(3) Cholera/%\_rﬂ (4) Dengue/?’:ﬁl

38. Indian government’s target for power production from small hydro projects by the year 2022 is

YR GRBR BT TN 2022 e Y THTSroTeh GRGSI3H  farorel e sraea g



(1) 1 Giga-Watt/ 1 TIRTI-IE  (2) 5 Giga-Watt/ 5 TIFT-aTe
(3) 10 Giga-Watt/1 0 TTNTI-@TC  (4) 15 Giga-Watt/ 15 TTI-dTC

39. In which country, the recent international agreement on phasing out Hydro Fluoro Carbons (HFCs) was sighed
?
11 81 H BIS g TIRI PIe (TIUHHT) Pl TR Ridh & THIG B & SaRighd THsid W feg e d
gHiER fpu Ty A?

(1) Rwanda/ XdTS (2) Morocco/w

(3) South Africa/ <f8rur 31hipT (4) Algeria/ 3ol

40. Which of the following natural hazards is not hydro-meteorological ?

iR & A S I Uipfae @1 Sia-araH g 78 82
(1) Snow avalanche/ %W (2) Sea erosion/ HH& P D Cld

(3) Tropical cyclone/ SUIHICaET Tehard (4) Tsunami/ﬁ'_ﬂﬁ[

41. Assertion (A) : Sustainable development is critical to well being of human society.
[of o\ [of
cldl (TQ): HIHd THIS ﬁ‘l-lc'ﬂi & |5’IQ Hdd [dh T HecdYU| %I
Reason (R) : Environmentally sound policies do not harm the environment or deplete the natural resources.

BRI (R) : TR B Y A Feg faai uafarur &) Joam el ugdrdt § a1 Ui fae Taremt &) 7y el
CRGI

Choose the correct

TE IR A

code : IS :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A).

(A) 3R (R) SFI GET § 3R (R) (A) BT TET RS B |

(2) Both (A) and (R) are correct, but (R) is not the correct explanation of (A).

(T) 3R (31R) a1 T51 8, Al (31R) () B Tl HRAT T 6|

(3) istrue and (R) is false.

(T) ¥4 § 3R (3R) ST 5|

(4) is false and (R) is true.

(T) ST § 3R (3R) T 5|

42. Which of the following pollutants is the major cause of respiratory diseases ?

AR & & 19 |1 UgWeh 4 T 1 I BRI 82
(1) Suspended fine particles/ ﬁﬁ%ﬁﬂ’iﬂ?w

(2) Nitrogen oxides/ T3 Io JTRITSS

(3) Carbon monoxide/ CARE Il‘Fﬁaﬂ'q%uss



(4) Volatile organic compounds/ G IR A EE A IIRED

43. Assertion (A) : In urban areas, smog episodes occur frequently in winters.
3B (a) : T & H, &G T SRR T Pt geAmd gt ] 1
Reason (R) : In winters, a lot of biomass is burnt by people for heating purposes or to keep themselves warm.

BT (R) : TS| H AN GRTTH 3 1 W D1 T 37 & o 9gd IRT STAIHN Sl o Sran g |

Choose the correct answer from the code given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

T () 31R (3R) TG 8 3R (3MR) () BT HET WHHR0T g

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(@) 3R (3MR) G T § AP (31R) (T) BT T AR 1T &

(3) (A)istrue and (R) is false

(@ 9 8 3R (3R) ST 3
(4) Both (A) and (R) are false

S (T) 3TR (31R) S &

44. Occurrence of natural hazards is affected by :

g WaRl ! e 399 yHIfad gl &:
(a) Land use changes/ T SUAITUREA  (b) Drainage and construction/ STal et 3R fAmfor
(c) Ozone depletion/ 3T Raciiep T (d) Climate change/ STaTg TR
Choose the correct answer from the code given below :
R frmHe I af IR AT
(1) (@), (c)and (d)  (2)(a), (b)and (c)  (3) (a), (b) and (d)  (4) (b), (c) and (d)

45. Which of the following pollutant gases is not produced both naturally and as a result of industrial activity ?
19 faggd T3 H IdTfed TR U SUANT & g U Taiarul fgds demeq § - Fafafed d 9 oH @t
Ugu® T M ae =0 ¥ 3R ffiies Tfafafd & aRume=y 3 T8l gidi a2

(1) Chlorofluoro carbons/ww (2) Nitrous oxide/ TR GITQHIC\SS

(3) Methane/ =i 0E (4) Carbon dioxide/aﬂé:f@g&ﬁ’aﬂﬁg

46. Among the following fuels of energy, which is the most environment friendly ?

Foit 3 Fafiad Seml 7 QP god e gafazor iRas 82
(1) Ethanol/ $ﬂ=n”?r (2) Biogas/a'lthﬁﬂ
(3) CNG/?ﬂ'Q:WIﬁ (4) Hydrogen/ 31’5:@51:[

47. ‘Fly ash’ produced in thermal power plants is an ecofriendly resource for use in :

a9 faggd S99 § IdTfed TeiTs U1 YA & ol Ueh Tatarul fgd Tareq g -
(a) agriculture as micro-nutrient@iﬁ ﬁ&{[tﬁwac_q’agwﬁ



(b) wasteland development/aoR YfH fdenT

(c) dam and water holding structures/ST¢I 3R SeT €U TRTTT
(d) brick industry/3¢ J&NT

Choose the correct answer from the code given below :

2 fRu e g ¥ we IR A

(1) (@), (b) and (d) only ~ (2) (b), (c) and (d) only

(3) (@), (c) and (d) only  (4) (a), (b), (c) and (d)

48. Which of the following types of natural disasters has no definite beginning and end ?

o & 9 fra UeR &1 Miefas el &1 Bis Ry Yosid 3R 3fd el gldT 32
(1) Earthquakes/ H\a?—q (2) Landslides/ HRAdT
(3) Hurricanes/ qWT4 (4) Droughts/ -l

49. Assertion (A) : Indoor air pollution is a serious health hazard.
AYHYT (A) : SHTARD IR YU WA & g Tp iR @avT g |
Reason (R) : The dispersal of air pollutants is rather limited in indoor environment.

HIRUT (R) : AT UG BT Balld iR araravor & W g1

Choose the correct answer from the code given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

() 3R (3MR) THI I 8 31R (31R) (1) B! Fel ATSAT |

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
() 3R (3R) ST T & b (3R) (T) ) T Ire TS B

(3) (A) is true and (R) is false.
(Q) T4 8 3R (3MR) ZIT 8|

(4) Both (A) and (R) are false.

(@) 3R (3R) S F &

50. In a fuel cell driven vehicle, the energy is obtained from the combustion of

24 I Tferd a1 & Solf & 8T J U gt &
(A) Methane/ HIg (B) Hydrogen/ BT3gIT:
(C) LPG/ UTTtSH (D) CNG/ TSt




